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ÍÛæ̃ Û¶ÛÛ : ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛ¾ÛÛ¶Û ™öé.  
 

1. ïõÛ˜Ûà •ÛèÐü¸ÛéþùÛÉÛ (GDP), ˜ÛÛé””Ûà •ÛèÐü̧ ÛéþùÛÉÛ (NDP) …¶Ûé ˜ÛÛé””Ûà ÁõÛÌ¤ÖøàýÛ ¸ÛéþùÛÉÛ (NNP) ÍÛ¾Û›ÛÈÛÛé. 14 

              …¬ÛÈÛÛ  
 ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà¶Ûà ¸Û±ùÜ©Û…Ûé ›÷̈ ÛÛÈÛÛé.  

 
2. ½ÛÛÁõ©Û¾ÛÛ× ”Ûé©Ûà“ÛéªÛ, …Ûíé²ÛéÜ•Ûïõ“ÛéªÛ …¶Ûé ÍÛéÈÛÛ“ÛéªÛ¶ÛÛé ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ¾ÛÛ× ºõÛÇÛé ÍÛ¾Û›ÛÈÛÛé.  14 
                      …¬ÛÈÛÛ  
 ½ÛÛÁõ©Û¾ÛÛ× …Û¡öÛþùà ¸Û™öà ïäõÅÛ …Û×©ÛÜÁõïõ ¸ÛéþùÛÉÛ¶ÛÛ ÈÛÅÛ¨ÛÛé ›÷̈ ÛÛÈÛÛé.  

 
3. ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ ÅÛÛ½Û …¶Ûé •ÛéÁõÅÛÛ½ÛÛé ›÷̈ ÛÛÈÛÛé.  14 
              …¬ÛÈÛÛ  
 ½ÛÛÁõ©Û¾ÛÛ× ›÷¾Ûà¶Û ÍÛäµÛÛÁõÛ…Ûé¶Ûä× ¤øàïõÛ©¾Ûïõ ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÛé.  

 
4. ½ÛÛÁõ©Û¶Ûà …¬ÛÙÈýÛÈÛÍ¬ÛÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÈÛÍ©ÛàÍÛ×’õ¾Û¨Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé.  14 
                …¬ÛÈÛÛ  
 ½ÛÛÁõ©Û¾ÛÛ× ›÷¶¾ÛþùÁõ …¶Ûé ¾Ûè©ýÛäþùÁõ¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ©Û¸ÛÛÍÛÛé.  

 
5. (A) ”Ûä›÷ ›÷ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé ƒ (ïõÛé̂ ¸Û¨Û ˜ÛÛÁõ) 4 

   (1) ˜ÛÛÅÛä½ÛÛÈÛé ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ …é¤øÅÛé ÉÛä× ? 
   (2) ¾Ûæ¦øà –ÛÍÛÛÁõÛé …é¤øÅÛé ÉÛä× ? 
   (3) ÍÛà¾ÛÛ×©Û ”Ûé¦æø©Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé. 
   (4) ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ …é¤øÅÛé ÉÛä× ? 
   (5) ÈÛýÛ›æ÷¬Û ¼Û×µÛÛÁõ¨Û …é¤øÅÛé ÉÛä× ? 
   (6) ›÷¾Ûà¶Û ÍÛäµÛÛÁõÛ¶ÛÛé …¬ÛÙ.  
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 (B) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶ÛÛé ”ÛÁõÛ×/”ÛÛé¤øÛ× ›÷¨ÛÛÈÛÛé ƒ  5 

   (1) GDP …¶Ûé GDPMP¾ÛÛ× ïõÛé̂  ©ÛºõÛÈÛ©Û ¶Û¬Ûà.  
   (2) ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ¾ÛÛ¸ÛÈÛÛ¶Ûà ¸ÛÛ×̃ Û ¸Û±ùÜ©Û…Ûé ™öé.  
   (3) ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ …é ¾ÛÛ¨ÛÍÛ-›÷¾Ûà¶Û¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ þùÉÛÛÙÈÛé ™öé.  
   (4) 1991¾ÛÛ× ŠþùÛÁõàïõÁõ¨Û¶Ûà ¶ÛàÜ©Û¶Ûà ÉÛÄ…Û©Û ¬Ûˆ.  
   (5) 2011¾ÛÛ× ½ÛÛÁõ©Û¶Ûà ÈÛÍ©Ûà 1.21 …¼Û›÷ Ðü©Ûà.  
 
 (C) ýÛÛé•ýÛ ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé ƒ (MCQ) 5 

   (1) ïäõÅÛ ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ˜ÛÛé””Ûà ÁõÛÌ¤ÖøàýÛ …ÛÈÛïõ ïõÁõ©ÛÛ ïõýÛÛ ïõÛÁõ¨ÛÛéÍÛÁõ ÈÛµÛä ÐüÛéýÛ ™öé ? 
    (a) –ÛÍÛÛÁõÛ ”Û˜ÛÙ (b) ÁõÛéïõÛ¨Û”Û˜ÛÙ (c) ›ÛÐéüÁõ”Û˜ÛÙ   

   (2) ˜ÛÛé””Ûà ÁõÛÌ¤ÖøàýÛ ¸ÛéþùÛÉÛ¶Ûé ÉÛä× ïõÐéüÈÛÛýÛ ™öé ? 
    (a) NDP (b) GNP (c) NNP  

   (3) 2011¶Ûà ÈÛÍ©Ûà •Û¨Û©ÛÁõà ¾Ûä›÷¼Û ½ÛÛÁõ©Û¾ÛÛ× ÍÛÛ“ÛÁõ©ÛÛ¶ÛÛé þùÁõ ïéõ¤øÅÛÛé Ðü©ÛÛé ? 
    (a) 66.8% (b) 70.4% (c) 74.4%  

   (4) 2011¾ÛÛ× ½ÛÛÁõ©Û¾ÛÛ× ÈÛÍ©Ûà¶Ûà •Ûà˜Û©ÛÛ ïéõ¤øÅÛà Ðü©Ûà ? 
    (a) 315 (b) 282 (c) 382  

   (5) ½ÛÛÁõ©Û¾ÛÛ× ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û¶Ûà ÉÛÄõ…Û©Û îýÛÛÁéõ ¬Ûˆ ? 
    (a) 1955-56 (b) 1966-67 (c) 1975-76  

_________ 
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Instruction : All questions carry equal marks.  

 
1. Explain Gross Domestic Product, Net Domestic Product and Net National Product. 14 

                       OR 

 Give the methods of measuring National Income. 

 
2. Give the contribution of Agricultural, Industrial and Service Sectors in India’s National 

Income. 14 

                                        OR 

 Explain trends of Gross Domestic Product in India after Independence. 

 
3. What is Green Revolution ? State its advantages and disadvantages. 14 

                     OR 

 Critically Evaluate the land reforms in India. 

 
4. Explain the theory of demographic transition with respect to Indian Economy. 14 

                                OR 

 Examine factors affecting Birth Rate and Death Rate in India. 

 
5. (A) Write very short answer : (any four) 4 

   (1) What is National Income at current prices ? 

   (2) What is Capital Depreciation ? 

   (3) Meaning of Marginal Farmers. 

   (4) What is density of Population ? 

   (5) What is Age Composition ? 

   (6) Meaning of Land Reforms. 
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 (B) True or False : 5 

   (1) There is no difference between GDP and GDPMP. 

   (2) National Income is measured by five methods. 

   (3) Density of population indicates man-land ratio. 

   (4) Liberalization policy introduced in 1991. 

   (5) During 2011the population of India was 121 crores. 

 (C) Choose the correct option (MCQ) : 5 

   (1) The Net National Income is greater than Gross National Income due to : 

    (a) Depreciation cost 

    (b) Investment expenditure 

    (c) Public expenditure 

   (2) What is net national product ? 

    (a) NDP (b) GNP (c) NNP 

   (3) According to 2011 census literacy rate in India was 

    (a) 66.8 % (b) 70.4% (c) 74.4% 

   (4) Population density in India during 2011 :  

    (a) 315 (b) 282 (c) 382 

   (5) When was Green Revolution started in India ? 

    (a) 1955-56 (b) 1966-67 (c) 1975-76 

___________ 


